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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
TRl ©od 2hpTed Ted fora
(a) State one advantage of using shorter
truth table method.
9 3T Ifeil *FafS ATHIoR <t e Srad 39 |

(b) Can formal proof of validity be used
in testing the validity or invalidity of
arguments?

TRIRE ISl oM ISR (qrer e wiHel
“[QP5P1 TR A IR FRI <41 IR 2
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(c)

(d)

(e)

(9)

(v
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(2)

How many rules are there in the ‘rules of
inference’?

SRR s SEsfe e (201 2

The rule of disjunctive syllogism is a rule
of inference/a rule of replacement.

( Choose the correct answer )

s am 91 Raes IR 9 SeEee 59/
s afegme 4 |

( % Teaco! A Sferear )

What is the fallacy of exclusive premises’™?

‘QFIfEe Sy qoaGe @’ F 2

Define the third figure of the syllogism.
TRE PR F<E A ford |

How many valid moods are there in all
the four figures of the syllogism?

TR DI G51 g e (201 ¢a4 O TR ?

“A singular proposition is a subs.titution
instance of a propositional function.”
( State True or False )
“9bl G T/ BF AN FAE G0l R
TR 17
( 571 1 =T ferain )

( Continued |

(i

0)

(3)

Does propositional function has truth
value?

IHAAF FATT T Fop ACHCA ?

How many circles are to be drawn
to represent a traditional proposition
through Venn diagram?

S BGR 9[1 *]R=o[IST© I/ Bl e FRIQ
I (F201 © %A R 091 2

2. Answer the following questions in brief :

CE

(@)

(b)

()

A7/849

2x5=10

PAPTYRS B Ted fore

What is decision procedure? Is indirect
truth table method a decision procedure?

ffr afFm &0 A@rs o o o&mfe
e afem = 2

What is Modus Tollens (MT)? State its
symbolic form.

TEb 5’5 (Modus Tollens) 2 W
AOIFEE 9 SrEy 41

State the definition of syllogism as given
by Aristotle.

R85 faan =i vige Teag 9491 |
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(4) (5)

(d) State the rules of quantifiers. (c) State the differences between propositional
logic and predicate logic. 5
“fqreeq gz & 6, Soad 301
’ TIIE SEREA W RS SERERT e
(e) Symbolize an universal negative LT AAFPTIR e 41
proposition with quantifier. (d) “Formal proof of validity cannot proof the
AF] © AwLS o4 AR invalidity of an argument.” Explain the
TS |
FO 2P 47 | statement with the help of an example. 5

3. Give short answers for the following questions

“OPIRT CHel I 9Ol Yfed wiqqel AN
IR EEIR 1”7 GO TrzReR SRrwe RYRechT

(any foun : Sx4=2( psl
O 2PPTgRY 5 Teq ford (R e wIfa61) : (e) Write a note on utility of predicate logic. 5
, fRuame st Saafie s 9o G
(@) What is the meaning of the Latin phrase 354 |
Reductio ad absurdum’? State why
shorter truth table method is Cal}ed b () Describe the structure of standard form
method of ‘Reductio ad absurdum’. What of categorical syllogism with a suitable
does the contradiction involved 1n a example. 5
shorter truth table method imply? 2+2+1=& S
e THRAR Ce bl HREPTS eerms
cEfoa AN ‘Reductio ad absurdum’S e BHERSCRIEE S1oW JefT 40 |
7 o sy oy afee U PTES ME
9['?1—%’ ‘Iﬁ CIE1 29 ? B T Siferel Tafos T8 4. What is indirect truth table method? Why is it
R Ry f& o, for<m | called ‘indirect’ truth table method? Explain
the procedure of constructing an indirect
(b) What is instantiation? Describe how to truth table with an example. 2+2+6=10
symbolize a singular proposition. 2+3=§ AE@PE O] Ol & T @E? @3 Efee
EE Tagem e Q@eE? 9B 9Fe B9 opErT ol el offs Jfe R w2 @bl
FEWE goNRe e gor R AR, e TAZAR CICS AT 7o) SIfeid] afeq so=-Afe
ALl T 4 '
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(6)

Or / 7241

Symbolize ‘the following arguments and

(7))

Or / 241

Construct the formal proof of validity for the
following arguments : 5+5=10

construct shorter truth table to determine weiq {@’F{Q_‘i SFIRE (ILS] 2T 5157 F
their validity or invalidity : 1 g 1 x5Us2
oS firgy ASFT T AT T AE Y Mg
e} wfere s IR YERLMA (ST TF ALl 3. x-(yv A)
fAefa 41 4.~z /B
(a) If Rubi is at least 18 years of age, then (i 1.J-(K-L)
Rubi can vote in the election. 2. (K-J)o[Mv(NvO)]
3.~M-(~P-~0)/~ N

Rubi is at least 18 years of age.
.. Rubi can vote in the election.

%+ 99 TFo: Sb I=A 2, (SR CE I e

. What is a categorical syllogism? Explain the

chief features of categorical syllogism. 4+6=10

oo corbrm <R MR | fEeer® A S F @ ? e s
FI T qFS S I | ST THPTIR TT01 41 |
3 |
. 3 Pl cobai FRE RS R
(b) Radh :nk if and only if, she is
Conscailogzn B Test the following syllogistic arguments with

Radha is conscious.
*. Radha can think.

AT fomr < ~Ra 3 S AicR 969 ol

the help of Venn diagram : 5+5=10

e foag =/l Sofe fr WE SEEMHR  (34el
o{Q] 91 :

AT | (a) All Russians are revolutionists.
TR G =g | All Marxists are revolutionists.
. 473 w1 g <R | . All Marxists are Russians.
S. Explain the strategies for constructing formal ALl Wﬁ’i{” e 222 l

proof of validity with suitable example. I Al !

(o T o 2o S TR . ST A i |

T <47 1 A7/849 ( Turn Over )

A7/849 ( Continued

|



(8)

(b) All great singers are hardworkers.
Some teachers are hardworkers.
~. Some teachers are great singers.

SRCE] T2 TS IO AR |
fegam Fres SR AR |
. fogam Free T2 T |

7. Explain universal and existential quantifiers.
Symbolize different forms of general
Proposition by using quantifiers. 5+5=1l

M e Sfggee ARme &, a0 0 1 =R
R IR fifen SR A IR AT 391 |
Or / 7z

What is quantification? Symbolize the following
Statements in the notation of predicate logic :
2+8=1l

IR % @ 2 Ruaee StRErR W e
T Refoorgz, ar@reras wers o 4 -
(@) Only dogs are mammals.

(P45 FFACACEE T |
(b) Peacock exists.

RERRZIER

(c) Either everything is sweet or everything
is bitter.

2y SecE T2 fio weRy srecen 3% foe |
(d) No philosopher is foolish.
e wrce2 34 72y |
* K &
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